Year 12 Problem-Solving Course

Section 5: Geometry — angles, triangles and circles
Mathematics Admissions Test Questions

Question B from 2011 Paper

Solution:

NB. This is a good example of a question with an elegant solution that you should try
to spot, but you are under time constraints and they do give you multiple choice for a
reason; it is not cheating if you reach your answer by establishing that it can’t be any
of the other options. For example, arguably the simplest rectangle to considerisa 1
by 1 square. This has P =4 and A = 1. For these values you immediately get that (b)
and (d) aren’t possible (check!). So it has to be (a) or (c). If we consider an x by x
square then we get that (a) only holds if x is greater than 1/64 (check this as well!). So
the answer has to be (c), and we have reached this conclusion without even venturing
from squares to rectangles!
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Question E from 2011 Paper

Solution:

20f4 28/10/13 © MEI



Year 12 Problem-Solving Course

Question | from 2012 Paper

Solution:

Question J from 2012 Paper

3o0f4 28/10/13 © MEI



Year 12 Problem-Solving Course

Solution:
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